SAE jE=#2L

BFW 90° ZEALHEE=4#%—EO 24°Hti&#E

L4

LA L3
Il
N C—Il;i
5|81 it
N B
Q\ =3 ’\} 9 = st
— ¥ — 1
D1
D3 =
2D1
D1 2t B8 TAEET (bar)
2 1% 2 4 (B55M)
LK D3| L1 | L2 | L3 | L4 | L5 |LA|S1|DB| (A#l) | (%) | ORE | F=/#4 T8 CF
35 | 10L | 8|38 |31.0|16.5|265 |47.0 | 40 | 19 | 6.4 | M6x22 | M6x35 | 20x2.5 0.23 | BFW10L/LK35 315
35 | 12L | 10 | 38 | 31.0 | 16.5 | 26.5 | 47.0 | 40 | 22 | 6.4 | M6x22 | M6x35 | 20x2.5 0.26 | BFW12L/LK35 315
35 | 15L | 12 | 38 | 31.0 | 16.5 | 26.5 | 46.0 | 40 | 27 | 6.4 | M6x22 | M6x35 | 20x2.5 0.38 | BFW15L/LK35 | 315
35 | 16S | 12 | 38 | 29.5 | 20.0 | 31.0 | 48.0 | 40 | 30 | 6.4 | M6x22 | M6x40 | 20x2.5 0.55 | BFW16S/LK35 | 315
35 | 20S | 16 | 45 | 345 | 25.0 | 38.0 | 56.0 | 40 | 36 | 6.4 | M6x22 | M6x45 | 20x2.5 0.65 | BFW20S/LK35| 315
40 | 15L | 12 | 38 | 31.0 | 225 | 36.5 | 46.0 | 42 | 27 | 6.4 | M6x22 | M6x22 | 26x2.5 0.29 | BFW15L/LK40 100
40 | 18L | 15| 38 | 30.5 | 22.5 | 36.5 | 47.0 | 42 | 32 | 6.4 | M6x22 | M6x22 | 26x2.5 0.70 | BFW18L/LK40 100
40 | 22L | 19| 38 | 30.5 | 22.5 | 36.5 | 47.5 | 42 | 36 | 6.4 | M6x22 | M6x22 | 26x2.5 0.36 | BFW22L/LK40 100
40 | 28L | 22 | 40 | 325 | 28.0 | 43.0 | 49.0 | 42 | 41 | 6.4 | M6x20 | M6x50 | 26x2.5 0.82 | BFW28L/LK40 100
40 | 35L | 31| 41 | 305|320 |550 |520 |42 | 50 | 6.4 | M6x22 | M6x60 | 26x2.5 0.22 | BFW35L/LK40 100
40 | 20S | 16 | 40 | 29.5 | 22.5 | 35.5 | 50.0 | 42 | 36 | 6.4 | M6x22 | M6x45 | 26x2.5 0.23 | BFW20S/LK40 | 250
55 | 35L | 31 | 49 | 385|320 | 515 | 62.0 | 58 | 50 | 8.4 | M8x25 | M8x60 | 32x2.5 0.27 | BFW35L/LK55 | 250
55 | 42L | 38 | 49 | 38.0 | 40.0 | 64.5 | 61.0 | 58 | 60 | 8.4 | M8x25 | M8x70 | 32x2.5 0.41 BFW42L/LK55 | 250
55 | 20S | 17 | 45 | 345 | 24.0 | 38.0 | 56.0 | 58 | 36 | 8.4 | M8x25 | M8x50 | 32x2.5 0.94 | BFW20S/LK55 | 250
55 | 255 | 20 | 49 | 37.0 | 30.0 | 46.0 | 61.0 | 58 | 46 | 8.4 | M8x25 | M8x55 | 32x2.5 0.80 | BFW25S/LK55 | 250
55 | 30S | 26 | 49 | 355 | 32.0 | 50.0 | 62.0 | 58 | 50 | 8.4 | M8x25 | M8x50 | 32x2.5 0.20 | BFW30S/LK55 | 250
XEHASBEERE, URITHEEEZ=SFRAEHME, FSRHS,
SEREM R EALBERRNG S
THEES
P MREERE | FRETER
351 REREEZ
RN, FAMIGIERE CF BFW16S/LK350MDCF |NBR
H20 FEmAEZA 4100/CH



